unit mapsandplayer;

interface

uses

  Windows, Messages, SysUtils, Variants, Classes, Graphics, Controls, Forms,

  Dialogs, jpeg, ExtCtrls, StdCtrls;

type

  TForm1 = class(TForm)

    img1: TImage;

    imgup: TImage;

    imgleft: TImage;

    imgright: TImage;

    imgdown: TImage;

    imgtruck: TImage;

    procedure imgrightClick(Sender: TObject);

    procedure imgleftClick(Sender: TObject);

    procedure imgupClick(Sender: TObject);

    procedure imgdownClick(Sender: TObject);

  private

    { Private declarations }

  public

    { Public declarations }

  end;

var

  Form1: TForm1;

implementation

{$R *.dfm}

procedure TForm1.imgrightClick(Sender: TObject);

begin

  if(imgtruck.left+111)<=576 then

  if not ((imgtruck.Left+111=576) and (imgtruck.Top=328)) then

  if not ((imgtruck.Left+111=112) and (imgtruck.Top=664)) then

  if not ((imgtruck.Left+111=112) and (imgtruck.Top=664)) then

  if not ((imgtruck.Left+111=113) and (imgtruck.Top=664)) then

  if not ((imgtruck.Left+111=114) and (imgtruck.Top=664)) then

  if not ((imgtruck.Left+111=115) and (imgtruck.Top=664)) then

  if not ((imgtruck.Left+111=116) and (imgtruck.Top=664)) then

  if not ((imgtruck.Left+111=117) and (imgtruck.Top=664)) then

  if not ((imgtruck.Left+111=118) and (imgtruck.Top=664)) then

  if not ((imgtruck.Left+111=119) and (imgtruck.Top=664)) then

  if not ((imgtruck.Left+111=112) and (imgtruck.Top=553))  then

  if not ((imgtruck.Left+111=113) and (imgtruck.Top=553))  then

  if not ((imgtruck.Left+111=114) and (imgtruck.Top=553))  then

  if not ((imgtruck.Left+111=115) and (imgtruck.Top=553))  then

  if not ((imgtruck.Left+111=116) and (imgtruck.Top=553))  then

  if not ((imgtruck.Left+111=117) and (imgtruck.Top=553))  then

  if not ((imgtruck.Left+111=118) and (imgtruck.Top=553))  then

  if not ((imgtruck.Left+111=119) and (imgtruck.Top=553))  then

  if not ((imgtruck.Left+111=121) and (imgtruck.Top=553))  then

  if not ((imgtruck.Left+111=122) and (imgtruck.Top=553))  then

  if not ((imgtruck.Left+111=123) and (imgtruck.Top=553))  then

  if not ((imgtruck.Left+111=124) and (imgtruck.Top=553))  then

  if not ((imgtruck.Left+111=125) and (imgtruck.Top=553))  then

  if not ((imgtruck.Left+111=126) and (imgtruck.Top=553))  then

  if not ((imgtruck.Left+111=110) and (imgtruck.Top=553))  then

  if not ((imgtruck.Left+111=111) and (imgtruck.Top=553))  then

  if not ((imgtruck.Left+111=127) and (imgtruck.Top=553))  then

  if not ((imgtruck.Left+111=128) and (imgtruck.Top=553))  then

  if not ((imgtruck.Left+111=115) and (imgtruck.Top=553))  then

  if not ((imgtruck.Left+111=116) and (imgtruck.Top=553))  then

  if not ((imgtruck.Left+111=117) and (imgtruck.Top=553))  then

  if not ((imgtruck.Left+111=120) and (imgtruck.Top=553))  then

  if not ((imgtruck.Left+111=208) and (imgtruck.Top=128))  then

imgtruck.Left:=imgtruck.left+111;

end;

procedure TForm1.imgleftClick(Sender: TObject);

begin

  if  (imgtruck.left-111)>=8 then

  if not ((imgtruck.Left-111=224) and (imgtruck.Top=208)) then

  if not ((imgtruck.Left-111=120) and (imgtruck.Top=376)) then

  if not ((imgtruck.Left-111=224) and (imgtruck.Top=376))  then

imgtruck.Left:=imgtruck.left-111;

end;

procedure TForm1.imgupClick(Sender: TObject);

begin

 if (imgtruck.Top-111)>=96 then

 if not ((imgtruck.Left=208) and (imgtruck.Top-111=224)) then

  if not ((imgtruck.Left=120) and (imgtruck.Top-111=376)) then

  if not ((imgtruck.Left=224) and (imgtruck.Top-111=376))  then

imgtruck.Top:=imgtruck.Top-111;

end;

procedure TForm1.imgdownClick(Sender: TObject);

begin

 if (imgtruck.Top+111)<=664 then

 if not ((imgtruck.Left=106) and (imgtruck.Top+111=429)) then

 if not ((imgtruck.Left=107) and (imgtruck.Top+111=429)) then

 if not ((imgtruck.Left=108) and (imgtruck.Top+111=429)) then

 if not ((imgtruck.Left=109) and (imgtruck.Top+111=429)) then

 if not ((imgtruck.Left=110) and (imgtruck.Top+111=429)) then

 if not ((imgtruck.Left=111) and (imgtruck.Top+111=429)) then

 if not ((imgtruck.Left=112) and (imgtruck.Top+111=429)) then

 if not ((imgtruck.Left=113) and (imgtruck.Top+111=429)) then

 if not ((imgtruck.Left=114) and (imgtruck.Top+111=429))then

if not ((imgtruck.Left=115) and (imgtruck.Top+111=429)) then

 if not ((imgtruck.Left=116) and (imgtruck.Top+111=429)) then

 if not ((imgtruck.Left=117) and (imgtruck.Top+111=429)) then

 if not ((imgtruck.Left=118) and (imgtruck.Top+111=429)) then

 if not ((imgtruck.Left=119) and (imgtruck.Top+111=429)) then

 if not ((imgtruck.Left=121) and (imgtruck.Top+111=429)) then

 if not ((imgtruck.Left=122) and (imgtruck.Top+111=429)) then

 if not ((imgtruck.Left=123) and (imgtruck.Top+111=429)) then

 if not ((imgtruck.Left=124) and (imgtruck.Top+111=429)) then

 if not ((imgtruck.Left=125) and (imgtruck.Top+111=429)) then

 if not ((imgtruck.Left=126) and (imgtruck.Top+111=429)) then

 if not ((imgtruck.Left=106) and (imgtruck.Top+111=434)) then

 if not ((imgtruck.Left=107) and (imgtruck.Top+111=434)) then

 if not ((imgtruck.Left=108) and (imgtruck.Top+111=434)) then

 if not ((imgtruck.Left=109) and (imgtruck.Top+111=434)) then

 if not ((imgtruck.Left=110) and (imgtruck.Top+111=434)) then

 if not ((imgtruck.Left=111) and (imgtruck.Top+111=434)) then

 if not ((imgtruck.Left=112) and (imgtruck.Top+111=434)) then

 if not ((imgtruck.Left=113) and (imgtruck.Top+111=434)) then

 if not ((imgtruck.Left=114) and (imgtruck.Top+111=434)) then

 if not ((imgtruck.Left=115) and (imgtruck.Top+111=434)) then

 if not ((imgtruck.Left=116) and (imgtruck.Top+111=434)) then

 if not ((imgtruck.Left=117) and (imgtruck.Top+111=434)) then

 if not ((imgtruck.Left=118) and (imgtruck.Top+111=434)) then

 if not ((imgtruck.Left=119) and (imgtruck.Top+111=434)) then

 if not ((imgtruck.Left=121) and (imgtruck.Top+111=434)) then

 if not ((imgtruck.Left=122) and (imgtruck.Top+111=434)) then

 if not ((imgtruck.Left=123) and (imgtruck.Top+111=434)) then

 if not ((imgtruck.Left=124) and (imgtruck.Top+111=434)) then

 if not ((imgtruck.Left=125) and (imgtruck.Top+111=434)) then

 if not ((imgtruck.Left=126) and (imgtruck.Top+111=434)) then

 if not ((imgtruck.Left=106) and (imgtruck.Top+111=433)) then

 if not ((imgtruck.Left=107) and (imgtruck.Top+111=433)) then

 if not ((imgtruck.Left=108) and (imgtruck.Top+111=433)) then

 if not ((imgtruck.Left=109) and (imgtruck.Top+111=433)) then

 if not ((imgtruck.Left=110) and (imgtruck.Top+111=433)) then

 if not ((imgtruck.Left=111) and (imgtruck.Top+111=433)) then

 if not ((imgtruck.Left=112) and (imgtruck.Top+111=433)) then

 if not ((imgtruck.Left=113) and (imgtruck.Top+111=433)) then

 if not ((imgtruck.Left=114) and (imgtruck.Top+111=433)) then

 if not ((imgtruck.Left=115) and (imgtruck.Top+111=433)) then

 if not ((imgtruck.Left=116) and (imgtruck.Top+111=433)) then

 if not ((imgtruck.Left=117) and (imgtruck.Top+111=433)) then

 if not ((imgtruck.Left=118) and (imgtruck.Top+111=433)) then

 if not ((imgtruck.Left=119) and (imgtruck.Top+111=433)) then

 if not ((imgtruck.Left=121) and (imgtruck.Top+111=433)) then

 if not ((imgtruck.Left=122) and (imgtruck.Top+111=433)) then

 if not ((imgtruck.Left=123) and (imgtruck.Top+111=433)) then

 if not ((imgtruck.Left=124) and (imgtruck.Top+111=433)) then

 if not ((imgtruck.Left=125) and (imgtruck.Top+111=433)) then

 if not ((imgtruck.Left=126) and (imgtruck.Top+111=433)) then

 if not ((imgtruck.Left=106) and (imgtruck.Top+111=432)) then

 if not ((imgtruck.Left=107) and (imgtruck.Top+111=432)) then

 if not ((imgtruck.Left=108) and (imgtruck.Top+111=432)) then

 if not ((imgtruck.Left=109) and (imgtruck.Top+111=432)) then

 if not ((imgtruck.Left=110) and (imgtruck.Top+111=432)) then

 if not ((imgtruck.Left=111) and (imgtruck.Top+111=432)) then

 if not ((imgtruck.Left=112) and (imgtruck.Top+111=432)) then

 if not ((imgtruck.Left=113) and (imgtruck.Top+111=432)) then

 if not ((imgtruck.Left=114) and (imgtruck.Top+111=432)) then

 if not ((imgtruck.Left=115) and (imgtruck.Top+111=432)) then

 if not ((imgtruck.Left=116) and (imgtruck.Top+111=432)) then

 if not ((imgtruck.Left=117) and (imgtruck.Top+111=432)) then

 if not ((imgtruck.Left=118) and (imgtruck.Top+111=432)) then

 if not ((imgtruck.Left=119) and (imgtruck.Top+111=432)) then

 if not ((imgtruck.Left=121) and (imgtruck.Top+111=432)) then

 if not ((imgtruck.Left=122) and (imgtruck.Top+111=432)) then

 if not ((imgtruck.Left=123) and (imgtruck.Top+111=432)) then

 if not ((imgtruck.Left=124) and (imgtruck.Top+111=432)) then

 if not ((imgtruck.Left=125) and (imgtruck.Top+111=432)) then

 if not ((imgtruck.Left=126) and (imgtruck.Top+111=432)) then

 if not ((imgtruck.Left=106) and (imgtruck.Top+111=431)) then

 if not ((imgtruck.Left=107) and (imgtruck.Top+111=431)) then

 if not ((imgtruck.Left=108) and (imgtruck.Top+111=431)) then

 if not ((imgtruck.Left=109) and (imgtruck.Top+111=431)) then

 if not ((imgtruck.Left=110) and (imgtruck.Top+111=431)) then

 if not ((imgtruck.Left=111) and (imgtruck.Top+111=431)) then

 if not ((imgtruck.Left=112) and (imgtruck.Top+111=431)) then

 if not ((imgtruck.Left=113) and (imgtruck.Top+111=431)) then

 if not ((imgtruck.Left=114) and (imgtruck.Top+111=431)) then

 if not ((imgtruck.Left=115) and (imgtruck.Top+111=431)) then

 if not ((imgtruck.Left=116) and (imgtruck.Top+111=431)) then

 if not ((imgtruck.Left=117) and (imgtruck.Top+111=431)) then

 if not ((imgtruck.Left=118) and (imgtruck.Top+111=431)) then

 if not ((imgtruck.Left=119) and (imgtruck.Top+111=431)) then

 if not ((imgtruck.Left=121) and (imgtruck.Top+111=431)) then

 if not ((imgtruck.Left=122) and (imgtruck.Top+111=431)) then

 if not ((imgtruck.Left=123) and (imgtruck.Top+111=431)) then

 if not ((imgtruck.Left=124) and (imgtruck.Top+111=431)) then

 if not ((imgtruck.Left=125) and (imgtruck.Top+111=431)) then

 if not ((imgtruck.Left=126) and (imgtruck.Top+111=431)) then

 if not ((imgtruck.Left=106) and (imgtruck.Top+111=430)) then

 if not ((imgtruck.Left=107) and (imgtruck.Top+111=430)) then

 if not ((imgtruck.Left=108) and (imgtruck.Top+111=430)) then

 if not ((imgtruck.Left=109) and (imgtruck.Top+111=430)) then

 if not ((imgtruck.Left=110) and (imgtruck.Top+111=430)) then

 if not ((imgtruck.Left=111) and (imgtruck.Top+111=430)) then

 if not ((imgtruck.Left=112) and (imgtruck.Top+111=430)) then

 if not ((imgtruck.Left=113) and (imgtruck.Top+111=430)) then

 if not ((imgtruck.Left=114) and (imgtruck.Top+111=430)) then

 if not ((imgtruck.Left=115) and (imgtruck.Top+111=430)) then

 if not ((imgtruck.Left=116) and (imgtruck.Top+111=430)) then

 if not ((imgtruck.Left=117) and (imgtruck.Top+111=430)) then

 if not ((imgtruck.Left=118) and (imgtruck.Top+111=430)) then

 if not ((imgtruck.Left=119) and (imgtruck.Top+111=430)) then

 if not ((imgtruck.Left=121) and (imgtruck.Top+111=430)) then

 if not ((imgtruck.Left=122) and (imgtruck.Top+111=430)) then

 if not ((imgtruck.Left=123) and (imgtruck.Top+111=430)) then

 if not ((imgtruck.Left=124) and (imgtruck.Top+111=430)) then

 if not ((imgtruck.Left=125) and (imgtruck.Top+111=430)) then

 if not ((imgtruck.Left=126) and (imgtruck.Top+111=430)) then

 if not ((imgtruck.Left=106) and (imgtruck.Top+111=439)) then

 if not ((imgtruck.Left=107) and (imgtruck.Top+111=439)) then

 if not ((imgtruck.Left=108) and (imgtruck.Top+111=439)) then

 if not ((imgtruck.Left=109) and (imgtruck.Top+111=439)) then

 if not ((imgtruck.Left=110) and (imgtruck.Top+111=439)) then

 if not ((imgtruck.Left=111) and (imgtruck.Top+111=439)) then

 if not ((imgtruck.Left=112) and (imgtruck.Top+111=439)) then

 if not ((imgtruck.Left=113) and (imgtruck.Top+111=439)) then

 if not ((imgtruck.Left=114) and (imgtruck.Top+111=439)) then

 if not ((imgtruck.Left=115) and (imgtruck.Top+111=439)) then

 if not ((imgtruck.Left=116) and (imgtruck.Top+111=439)) then

 if not ((imgtruck.Left=117) and (imgtruck.Top+111=439)) then

 if not ((imgtruck.Left=118) and (imgtruck.Top+111=439)) then

 if not ((imgtruck.Left=119) and (imgtruck.Top+111=439)) then

 if not ((imgtruck.Left=121) and (imgtruck.Top+111=439)) then

 if not ((imgtruck.Left=122) and (imgtruck.Top+111=439)) then

 if not ((imgtruck.Left=123) and (imgtruck.Top+111=439)) then

 if not ((imgtruck.Left=124) and (imgtruck.Top+111=439)) then

 if not ((imgtruck.Left=125) and (imgtruck.Top+111=439)) then

 if not ((imgtruck.Left=126) and (imgtruck.Top+111=439)) then

  if not ((imgtruck.Left=120) and (imgtruck.Top+111=440)) then

  if not ((imgtruck.Left=106) and (imgtruck.Top+111=441)) then

 if not ((imgtruck.Left=107) and (imgtruck.Top+111=441)) then

 if not ((imgtruck.Left=108) and (imgtruck.Top+111=441)) then

 if not ((imgtruck.Left=109) and (imgtruck.Top+111=441)) then

 if not ((imgtruck.Left=110) and (imgtruck.Top+111=441)) then

 if not ((imgtruck.Left=111) and (imgtruck.Top+111=441)) then

 if not ((imgtruck.Left=112) and (imgtruck.Top+111=441)) then

 if not ((imgtruck.Left=113) and (imgtruck.Top+111=441)) then

 if not ((imgtruck.Left=114) and (imgtruck.Top+111=441)) then

 if not ((imgtruck.Left=115) and (imgtruck.Top+111=441)) then

 if not ((imgtruck.Left=116) and (imgtruck.Top+111=441)) then

 if not ((imgtruck.Left=117) and (imgtruck.Top+111=441)) then

 if not ((imgtruck.Left=118) and (imgtruck.Top+111=441)) then

 if not ((imgtruck.Left=119) and (imgtruck.Top+111=441)) then

 if not ((imgtruck.Left=121) and (imgtruck.Top+111=441)) then

 if not ((imgtruck.Left=122) and (imgtruck.Top+111=441)) then

 if not ((imgtruck.Left=123) and (imgtruck.Top+111=441)) then

 if not ((imgtruck.Left=124) and (imgtruck.Top+111=441)) then

 if not ((imgtruck.Left=125) and (imgtruck.Top+111=441)) then

 if not ((imgtruck.Left=126) and (imgtruck.Top+111=441)) then

 if not ((imgtruck.Left=127) and (imgtruck.Top+111=441)) then

 if not ((imgtruck.Left=106) and (imgtruck.Top+111=443)) then

 if not ((imgtruck.Left=107) and (imgtruck.Top+111=443)) then

 if not ((imgtruck.Left=108) and (imgtruck.Top+111=443)) then

 if not ((imgtruck.Left=109) and (imgtruck.Top+111=443)) then

 if not ((imgtruck.Left=110) and (imgtruck.Top+111=443)) then

 if not ((imgtruck.Left=111) and (imgtruck.Top+111=443)) then

 if not ((imgtruck.Left=112) and (imgtruck.Top+111=443)) then

 if not ((imgtruck.Left=113) and (imgtruck.Top+111=443)) then

 if not ((imgtruck.Left=114) and (imgtruck.Top+111=443)) then

 if not ((imgtruck.Left=115) and (imgtruck.Top+111=443)) then

 if not ((imgtruck.Left=116) and (imgtruck.Top+111=443)) then

 if not ((imgtruck.Left=117) and (imgtruck.Top+111=443)) then

 if not ((imgtruck.Left=118) and (imgtruck.Top+111=443)) then

 if not ((imgtruck.Left=119) and (imgtruck.Top+111=443)) then

 if not ((imgtruck.Left=121) and (imgtruck.Top+111=443)) then

 if not ((imgtruck.Left=122) and (imgtruck.Top+111=443)) then

 if not ((imgtruck.Left=123) and (imgtruck.Top+111=443)) then

 if not ((imgtruck.Left=124) and (imgtruck.Top+111=443)) then

 if not ((imgtruck.Left=125) and (imgtruck.Top+111=443)) then

 if not ((imgtruck.Left=126) and (imgtruck.Top+111=443)) then

 if not ((imgtruck.Left=127) and (imgtruck.Top+111=443)) then

 if not ((imgtruck.Left=106) and (imgtruck.Top+111=442)) then

 if not ((imgtruck.Left=107) and (imgtruck.Top+111=442)) then

 if not ((imgtruck.Left=108) and (imgtruck.Top+111=442)) then

 if not ((imgtruck.Left=109) and (imgtruck.Top+111=442)) then

 if not ((imgtruck.Left=110) and (imgtruck.Top+111=442)) then

 if not ((imgtruck.Left=111) and (imgtruck.Top+111=442)) then

 if not ((imgtruck.Left=112) and (imgtruck.Top+111=442)) then

 if not ((imgtruck.Left=113) and (imgtruck.Top+111=442)) then

 if not ((imgtruck.Left=114) and (imgtruck.Top+111=442)) then

 if not ((imgtruck.Left=115) and (imgtruck.Top+111=442)) then

 if not ((imgtruck.Left=116) and (imgtruck.Top+111=442)) then

 if not ((imgtruck.Left=117) and (imgtruck.Top+111=442)) then

 if not ((imgtruck.Left=118) and (imgtruck.Top+111=442)) then

 if not ((imgtruck.Left=119) and (imgtruck.Top+111=442)) then

 if not ((imgtruck.Left=121) and (imgtruck.Top+111=442)) then

 if not ((imgtruck.Left=122) and (imgtruck.Top+111=442)) then

 if not ((imgtruck.Left=123) and (imgtruck.Top+111=442)) then

 if not ((imgtruck.Left=124) and (imgtruck.Top+111=442)) then

 if not ((imgtruck.Left=126) and (imgtruck.Top+111=442)) then

 if not ((imgtruck.Left=125) and (imgtruck.Top+111=442)) then

 if not ((imgtruck.Left=106) and (imgtruck.Top+111=444)) then

 if not ((imgtruck.Left=107) and (imgtruck.Top+111=444)) then

 if not ((imgtruck.Left=108) and (imgtruck.Top+111=444)) then

 if not ((imgtruck.Left=109) and (imgtruck.Top+111=444)) then

 if not ((imgtruck.Left=110) and (imgtruck.Top+111=444)) then

 if not ((imgtruck.Left=111) and (imgtruck.Top+111=444)) then

 if not ((imgtruck.Left=112) and (imgtruck.Top+111=444)) then

 if not ((imgtruck.Left=113) and (imgtruck.Top+111=444)) then

 if not ((imgtruck.Left=114) and (imgtruck.Top+111=444)) then

 if not ((imgtruck.Left=115) and (imgtruck.Top+111=444)) then

 if not ((imgtruck.Left=116) and (imgtruck.Top+111=444)) then

 if not ((imgtruck.Left=117) and (imgtruck.Top+111=444)) then

 if not ((imgtruck.Left=118) and (imgtruck.Top+111=444)) then

 if not ((imgtruck.Left=119) and (imgtruck.Top+111=444)) then

 if not ((imgtruck.Left=121) and (imgtruck.Top+111=444)) then

 if not ((imgtruck.Left=122) and (imgtruck.Top+111=444)) then

 if not ((imgtruck.Left=123) and (imgtruck.Top+111=444)) then

 if not ((imgtruck.Left=124) and (imgtruck.Top+111=444)) then

 if not ((imgtruck.Left=126) and (imgtruck.Top+111=444)) then

 if not ((imgtruck.Left=125) and (imgtruck.Top+111=444)) then

  if not ((imgtruck.Left=120) and (imgtruck.Top+111=439)) then

  if not ((imgtruck.Left=120) and (imgtruck.Top+111=440)) then

  if not ((imgtruck.Left=120) and (imgtruck.Top+111=441)) then

  if not ((imgtruck.Left=224) and (imgtruck.Top+111=376))  then

imgtruck.Top:=imgtruck.Top+111;

end;

end.
